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L =T 51 53 104 68
R oh/HT 125 117 242 123
th /HT 39 50 89 51
Farh /HT 114 99 213 129
R R HT 94 98 192 77
LR ET 110 98 208 118
ERmiTET 255 289 544 237
AE—TH 135 139 274 133
NEE=TH 37 59 96 55
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NEMTE 95 92 187 116
NERETHE 69 82 151 82
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&/ — &7 36 36 72 39
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BA R 359 333 692 334
FA R HET 97 120 217 115
FLETE 90 70 160 98
fE./ =HT 28 45 73 42
2DOLME 44 89 133 86
SEhE 544 514 1,058 453
[LZEHT 181 220 401 218
BERAHER/RKES 204 167 371 139
TR EE 4,381 4,509 8,890 4,361
R F0 (24B8%)
T HNET 11 17 28 14
Z =M 34 59 93 42
T EHT 43 54 97 43
il 60 65 125 64
SFHT 86 95 181 79
Y EmET 121 120 241 140
FIATHHET 576 529 1,105 538
BRAHT 48 53 101 58
[P N ) 181 157 338 198
FAANHT 85 96 181 102
L ARET— X 158 148 306 149
RHE 236 237 473 249
[ ¥ 157 164 321 170
L ARET X 199 220 419 222
T&E 316 346 662 295
mRE 146 163 309 153
[ERR 326 361 687 238
PE 119 121 240 116
[ i EHET 473 482 955 539
EI==Rs 508 492 1,000 522
BRFOETET 338 364 702 334
JERHET 272 272 544 221
tEE—K 215 253 468 236
tEE-K 292 271 563 269
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ITHROEE 5000 5,139 10,139 4,991
KIE (16B8%)
AR 69 77 146 64
#HiE 56 59 115 57
= A 74 69 143 71
KA 548 505 1,053 535
Iz 208 204 412 200
BFR 233 253 486 237
PN AT 126 109 235 107
LT 260 183 443 295
#EO 318 300 618 377
R 384 285 669 406
RharE 83 95 178 76
L\ A 342 365 707 350
E/INEy R 120 111 231 120
tihsyrE 177 184 361 154
FAAYE 176 201 377 172
arhE 71 98 169 125
ITHROEE 3,245 3,098 6,343 3,346
E=E (MBBR
T BmET 225 233 458 198
HITE 779 764 1,543 737
IRy B 93 164 257 133
RiEEEFHT 348 347 695 373
MEMNE 118 163 281 137
e 143 162 305 151
i EEFET 545 560 1,105 581
Fa £ E FPET 105 142 247 152
T ERETETE 848 828 1,676 801
TERETETR 363 343 706 371
*+ Bf = HT 379 380 759 409
ITBRROEE 3946 4,086 8,032 4,043
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* 197 188 385 184
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AR 1,174 1,172 2,346 1,013
B 293 294 587 292
88 92 180 88
FH 135 152 287 122
R EFHT 286 278 564 264
ER{EMT 124 155 279 133
R L EPHT 133 154 287 129
THRROEE 2,430 2,485 4,915 2,225
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Kt 3 BT 341 356 697 289
rh 3z T 226 198 424 142
K ILIET 138 129 267 94
F EFHT 716 764 1,480 610
BEMNE 586 558 1,144 405
TBRREOEE 2,007 2,005 4,012 1,540
k5 (48A%
Fhmh 83 920 173 88
wmEF 169 196 365 190
ENA 17 24 41 23
L7 O 11 15 26 12
TR DO &E 280 325 605 313
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I 267 285 552 288
L 137 160 297 142
T ¥ 95 97 192 105
sk Sl 51 65 116 69
H 146 143 289 158
puk:ii 88 69 157 88
ZH 31 27 58 36
5 71 78 149 77
TBRRDOEE 886 924 1,810 963
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LA 361 336 697 389
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T 51 52 103 50
E=Fas 200 212 412 196
B 65 78 143 63
MAF 59 65 124 50
N 83 83 166 86
=331 163 169 332 147
L1 30 34 64 35
¥Ei1x 41 51 92 47
SR 165 183 348 159
+H 120 128 248 123
#HIE 284 287 571 286
E 105 86 191 114
IEBRSF 553 514 1,067 493
i3 37 44 81 38
= 38 35 73 38
SDOETE 40 40 80 45
MLDOKE 774 829 1,603 708
BT 182 171 353 163
FoAE)LX 109 101 210 84
TR EE 3,460 3,498 6,958 3,314
A CIShE=

TXRi#E 30 24 54 29
—E 12 10 22 11
EFN 14 15 29 14
RhfE 54 81 135 57
24 143 158 301 143
ax 19 24 43 25
BT 34 35 69 37
R 4 5 9 6
TBREOEF 310 352 662 322
2= (13BAR

ai5 52 50 102 54
il 85 88 173 98
us 15 23 38 14
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e 33 30 63 34
INK 33 33 66 36
TF 13 16 29 15
= 11 7 18 14
Bd 26 31 57 28
&k 41 47 88 43
HE 43 47 90 44
H4EIR 94 106 200 108
HAER 78 74 152 89
/8 312 293 605 207
THRREOEE 836 845 1,681 784
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FR 115 122 237 115
+% 34 41 75 38
4% 29 32 61 32
Yzt 13 20 33 20
=& 125 144 269 133
it 46 56 102 52
=1 28 26 54 27
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= 4 7 11 5
ITEROEE 404 465 869 437
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SH 28 28 56 32
FRE{CH 29 32 61 29
Tith 61 61 122 69
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BIEF 44 57 101 46
AALLMHA 33 33 66 30
15 40 37 77 38
OB 39 49 88 48
FHE7ILEA 36 37 73 33
TERREOEE 338 360 698 356
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Z&Rm 134 110 244 133
KHE®E 156 142 298 137
KA 82 82 164 88
ik /A 451 455 906 373
RHEE 740 766 1,506 665
mD& 376 382 758 353
=1 75 78 153 76
PN 54 121 135 256 145
B 352 BT 596 594 1,190 502
TR EE 2,731 2,744 5,475 2,472
o mEss)
Frit 215 215 430 196
SR 101 109 210 92
+= 18 15 33 18
NN 54 53 107 50
+=K 21 22 43 24
ERT R 21 22 43 24
T/NH 57 57 114 58
N 25 23 48 23
= 21 24 45 25
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Xa 63 59 122 56
TBRROEE 657 652 1,309 627
kAN (78AE
B AR 84 85 169 91
Ba 45 42 87 48
=i 10 13 23 16
F#0 23 31 54 29
XER#H 14 16 30 18
RS EFHT 151 161 312 161
i 45 49 94 45
TRROEE 372 397 769 408
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AE 20 18 38 18
= 8 8 16 7
BT 11 12 23 12
TEARR 23 24 47 23
hiER KR 6 13 19 13
LiEARK 33 34 67 44
% 17 19 36 18
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EEE 13 13 26 18

T8 23 32 55 36

KkE 24 31 55 36

RKEX 52 50 102 64
TRROEE 142 153 295 189

ElR (18B=s

ER 90 113 203 105
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T 717 249 966 960
ITEROEE 717 249 966 960
IBThETD & 32,431 32,603 65,034 31,976
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%R (6BAR

HRT— 112 107 219 117

ZRERTZ 42 44 86 55
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=Y 34 28 62 37
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FiEE VN 10 19 13
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M 72 78 150 88
us 109 93 202 100
FR 272 247 519 351
FE 48 54 102 58
Bl 34 42 76 44
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R 40 38 78 39
TR EE 779 743 1,522 891
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PN 41 52 93 57
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B 36 27 63 27
[] 92 103 195 104
EFIR 25 25 50 25
PR 14 11 25 11
TFIR 38 41 79 42
THRROEE 529 578 1,107 559
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A& 76 62 138 81
X 35 38 73 40
=12 66 61 127 57
KHF 57 51 108 60
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TRREROEE 299 275 574 304
E®RAE (2488
F9iE 61 71 132 57
2l & 70 63 133 60
s 38 41 79 39
&8 0 1 1 1
KA 15 25 40 18
5 12 11 23 12
FaiE 26 25 51 22
=18 13 16 29 15
RE 12 8 20 10
Fa 11 15 26 16
FH 42 54 96 50
L HET 16 17 33 16
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BAE 21 22 43 22
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=1 9 10 19 9
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T8 28 29 57 34
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IKIR 38 41 79 33
ERAT 41 47 88 40
Bk 4 5 9 6
"RAE 6 5 11 6
THRROEE 526 569 1,095 537
B ETD & & 1,354 1,422 2,776 1,400
|B R THET
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L% 72 75 147 54
KE 45 50 95 42
£E 173 187 360 159
£5/ 23 25 48 23
TET 72 95 167 89
R 86 114 200 85
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TRRDOEE 554 643 1,197 541
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NE 26 35 61 34
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YNED 77 88 165 74
TR OEE 162 180 342 165
AT 9EAR
TR 25 25 50 28
=¥ 3m| 52 57 109 51
kR 35 37 72 30
AR 13 17 30 15
B2 27 32 59 29
£ H 14 16 30 18
izl 45 47 92 43
= 42 41 83 37
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AL CI=PeES
B 30 29 59 25
[ 36 37 73 41
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=5 30 42 72 37
(=)= 91N 36 37 73 39
TBREOEF 175 190 365 179
IHTRTD & & 1,731 1,948 3,679 1,779
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weE 36,971 37,419 74,390 36,811
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